R 1—1
HERT B EEEMESRELIRETIEZ—F

i IEE%F TI=5T wEt= F—AD
5 (B4, T, X %) (R L3577 (m)| ' |y SHeEE gly SMIEE 5|y SHeEE | BEENA
C04—35 |7l KIFEHTANITE H204 fﬂ%mgmm~5&m 20,000 |BbE £ R6.7.2
C05—3 ggsigimiﬁigiﬁﬁggﬁg H E T R ET P A4 270 |#EEL R6.7.2
C05—10 ﬁ*ﬂ%ﬁﬁé‘g}gﬁﬁ;i IR | ooty R EE BT} 660 [+ R6.7.2
C05—20 |FRJIl KMBERERINILTE F245 HEH B RET A 20,000 |RhE L R6.7.2
DHSEE ESMHMEHKRKEEE =
C05—22 zﬁ%?ﬁ%) BEMKX f=oitsiE(Zn |HERE)IRT=HKHRN 6,700 |FEE L R6.7.2
C05—27 gﬂwﬁfi FIRAL (KE#1t) iZ@T M T 4 F BT K 2 200 |peE + RE.7.2
C05—29 ﬁ;&’et%ll%%?ﬂﬁ%wﬂﬁ%E%(ﬁﬁf’) sjqéﬂ—iﬁﬂzaam—?iﬂaﬂﬁ 3500 |BbE+ R6.7.2
C05—30 §§§%¥II$¥F€IE%@‘KE%$¥(iﬁﬁ‘@ l.';ﬂq;iiﬂﬂiﬂim—?iﬂatﬁ 600 | R6.7.2
C05—31 (&Il BEMHFALYILYYATE (HEHESEHRA 1,400 |4E L R6.7.2
C05—36 %Eﬂ'%$¢§;§1ﬁ%@%%$¥(ﬁﬁ HEMRMAKETHA 910 |E L R6.7.2
C05—38 %”ﬁfﬁ RE2TR BEXNE@ |\ pmpme)mr=mwn| 15000 |[BEt R6.7.2
C05—39 fﬁﬁ%’bﬂfﬁ%ﬁﬁﬁ(mﬁjﬂ“l)l$ HEME TEHA 16,000 |HE = R6.7.2
cos—at [T TSI (RSUAND TR |y oo e msgvar s 2700 |#t+ R6.7.2
C05—43 (E;ﬁ&)%;ﬁ%ﬁ)&;alﬂzl);éiﬁé Hi E & BET A A 150 |ME L R6.7.2
Cos—a4 [NBERBIABITRORARNE | nmmiemar i 550 |# R6.7.2
C05—45 g?g“m REBHY LEREAGR HEM M KET A5} 2,390 |MEL R6.7.2
C05—46 |ZA) KBEREMIITE F8H] HEMTHETH#HRA 3,000 |MEL R6.7.2
C05—47 ii%;ﬁ?ge;%ﬁﬁﬁ%ﬂml$(1”Ej*ﬁ tﬂé;;iﬂiﬁfgm~iﬁ}é‘m 22,000 &+ R6.7.2
cog—1 |BLIA ANKEEALTEERIS. |ygmmranemn 820 |BE L R6.7.2
C06—2 §§§$§)§$¥§%§E¢%%$¥(m HENS AETHRA 180 [#51%+ R6.7.2
cog—7 |G FNISRIATE GROSE. g nsmarern 480 |BH+ R6.7.2
Co6—8 %%éﬁ%#‘qlz;%ﬂi)ﬁﬁ%fﬁlﬂl$(5ﬁ29%‘1 tﬂé;;iﬂiiﬂ'FlﬂT~EIJFﬁET 430 |+ R6.7.2
cos—o |l DEXHEW@RIIRIA |y gimm 1,800 |BpE+ R6.7.2
Co6—11 [RBAHN B KEEIBIE (51225 |HEMAEMAKETH A 660 |MEL R6.7.2
CO6—12 Sg%ﬁ)%m% ANIKERIBIE(BKTH. g%}g%ﬂﬁm'@%E 150 |pbeg+ R6.7.2




